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(make <

(remove <

(modify <




(modify 1 count &~ (compute <x> + 1)))




(p rulel
(someone “situation hungry)
(apple "size 10)
(eat “number <count>)
=

(remove 2)
(modify 3 “number (compute <count> + 1)))




(p rule2
(someone situation hungry)
(apple "size 10)
>

(make eat “number 0))

(p rule3
(apple *color black)
-->

(remove 1))




1 (apple *color red "size 10)

2 (apple ~color blue ~size 10)
3 (someone “situation hungry)







1 (apple *color red "size 10)

2 (apple ~color black ?size 10)
3 (someone “situation hungry)













(operation *step check apple)

(operation “step have apple)




(p rulel
(operation “step have _apple)
(someone “situation hungry)
(apple "size 10)

(eat “number <count>)
>

(E
(modify 3 “number (compute <count> + 1)))




(p rule2
(operation “step have _apple)
(someone "situation hungry)
(apple "size 10)
-->
(make eat “number 0))

(p rule3
(operation ~step check apple)
(apple *color black)
-->

(remove 1))




(p rule4
(operation ~step check apple)
-->
(modify 1 "step have apple))

(operation “step check apple)

(operation ~step have _apple))




1 (apple *color red "size 10)

2 (apple ~color black ?size 10)
3 (someone “situation hungry)
4 (operation ~step check apple)







